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F FAICR ETEEHE F| FICHS KEIEH S
N |tBETVT [ERE FLIRFIC 2500 = 1,250 (A1,250AHEB)|ERILE FFHIC wRIEI5I 22,150 < 15500 (A 6,650 &%)
)E( SERE ZEFIEIC o®ILE NIIOJCT[RESEI5| 22,150 < 11,100 (A11,050M &%)
c [ETV7 |HILE EEHIC 2,750 = 1,400 (A1,350M &)
% oRE FRILRIC dhEE FBHEIC ®EEIS] 11350/ « 7950F (A 3400M#78)
B |HRTIU7 |EB#E #HEFRIC 2,600 = 1,300 (A1,300A&H) oB#E FEIC|E®KEIS| 11,350 © 5700 (A 5650MFE%)
i SBHE REEIC
N [RETVUTY |RE 2JIC 1,150 = 600 (A 550M&®)|RE LHEIC ®MEI5I 6450 < 4500/ (A 1,950M &%)
)E( SRA JEHIC OHEL BEIC/EREE 6450 < 3250 (A 3,200M#78)
c |HFETVF |E& /HEIC 1,950 = 1,000 (A 950M3%#%)
:?: ehRiE §iE)IIc & —EIC wREIZEIE] 12,050 ¢ 8450/ (A 3,600M#HE)
B |dtkET)7 |dLEEE &£IREIC 1,550 = 800 (A 750M &) ohRE /\EFIC[E®EEI5| 12,050 < 6,050 (A 6,000MFEH)
A oitiEE BmlIc
EET)7 |PEE @EEIIC 2,700M = 1,350 (A1,350M&HB)|LFEE LBIC REEI5] 10950 < 7,650 (A 3,300M&%B)
N SRBERE HJERIC ohEE HhEMBIC|E®REIE 109508 < 5500 (A 5450MEE)
)E( hEITY7 |UBE EBIC 2550 = 1,300 (A1250M&8)
C <EME JEMIC
% mMETY7 |EhE SiHRIC 2550 = 1,300 (A1250M&EB)|NME KEFFC REEIS] 20450 < 14,300 (A 6,150 &%)
= eflE #HEEIC ohEE hEMBAICIEKEIZ] 20450/ © 10,250 (A10,200M#75)
A amzu7  |amE xz=mc 2,500 = 1,250 (A1,250M &)
SNINE REARIC
NEXCO LFEE FiRFEIC ®EEI5]1 19,600 < 13,700 (A 5900MFEH)
RAFX~FEEX ohEE hEZGICEREIGI 19600 ¢ 9800M (A 9,800M&E)
NEXCO &# —EIC REEI5| 25800 < 18,050 (A 7,750M &%)
FEHAR~FEER SAME KEMICEEEIZ 25800 « 12,900 (A12,900M#H7%E)






